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And now it is Shimon’s ox - WAWT XTI XA

Overview

The ®nax differentiated between selling the ox (where there is a liability of 'm '7),
and being v 7pn the ox (where there is no 'M '"7). When selling, it was originally
$'12%1 ox and now it is s'YAY ox. However, by wps, even after the wpn, people
still refer to it as s'721X7 (0x) [127P].! Our Moo resolves an apparent contradiction.

mooIn anticipates a difficulty:
= VTAY 199995 MNNT /N 71 29N WITPNI 23X 219PY 9INRT NN

And regarding this which the Xn>12 states later, ‘if he stole and was w>7pn it, he
is liable for 'm '7’, as the X713 there explains that being w>7pn is like selling it to a

plain person. This seemingly contradicts what we learnt here that by wpn there is no 'm '7
payments (because it is still called j21877 X71n) —

MooIN answers; that X ) later -
- 40oYya Ov YY 199 NDT 35020 PTa YWTPA 1IN

Is discussing the 2>w7p which are used for the maintenance of the w7pni nsa, for

these 0°w7p are not called by the name of the original owners, therefore it is considered
a valid transfer like a sale and he is liable for 'm 'y —

Nvo0IN comments:
= 1999195 WTPN NN KD 0Y5¥2 OV HY 19917 23 HY N PNYY 13929 99N NN SWTP)

And the >''1 says regarding 121 sw7p, even though they are called by the owner’s

name and therefore the WP is not considered like a sale, regarding 71 '7 -
- I MPWI YINDD 2DUN 537 XY SWINY 9NT INPY BP0 Y90

Nevertheless, according to the one who maintains that 2> alone is not 721p,

!'See v1on "7 >"wn.
2 The n"an maaT refers us to 213 7" 702 ©"¥1 X,0Y.
3 nvan p7a >wip refer to things that are donated for the upkeep of the p"ni°2, which the w7pn *Xa3 usually sell, and use
the proceeds to maintain the p"»02.
4 However, by mam *w1p for mi27p, the 1277 is called 7277 7218, for it is being offered for his sake, and is a forgiveness
for his sins. Therefore, it is not considered a real ‘sale’.
5 wR> means giving up hope from ever retrieving an article which was lost or stolen from you. There is a dispute in
the X3 (R,70 2°¥%) whether wX» is P (so the thief may keep the article, even though he still needs to pay for it), or
whether 27X alone *1p X2 (and the owner can demand that thief return the article to him).
¢ This means that even though regarding the payments of 'm '7, it is not considered as if the w7pn was transferred out
of the domain of the w7pn (and therefore no '™M '7), nevertheless regarding the effectiveness of this wipn, it is
considered a transfer and together with ¥R it will make the w7pn valid. See ‘Thinking it over’.
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however X> and w711 is considered as niw= e wIN° -
= (3,0 91 99YY YNUNTI YINY NN YWTPN INT Payh

Regarding that the w7p: is effective after the wIN, as it is indicated previously -
= 79901 RDY 192991 2P KDY WINYT DAY 9%aN NININD '¥aT

Where °28 wished to convince 729 that 2R is not 7239, from the word 1129p,

which is expounded to mean but not something which is stolen -
= QYN MW YINY HNT NINYIN PPON XD ININT 2) JY R WTPN HNT OV 99N $91 1929N)

And nevertheless, he says there® that the w7pn is effective after vIX°, even though
that as of yet, it did not enter their minds that when he is v>7pn after v it is

considered 2" and a name change, which is also 7p,'? but they did not consider the

idea of aws "W yet, and nevertheless it is WP -
SV MW YIRS HNT DIVN NON

Rather we must say the reason it is w7p7 because it is considered nwa MW 2INS.

Summary
By n°an P72 *wip there is 'm "7, but not by nam wip, and nevertheless nam? wps

together with wX> is considered N1 "W regarding the effectiveness of the wpH.

Thinking it over

It seems that the "1 is trying to prove that the wpn after wIX> is considered a MW
mu, regarding the effectiveness of the w7pn.!! From our entire X3 it seems like a
forgone conclusion that the wpn is “n, why is the °"2 searching elsewhere for
proof?!12

7 The ®n™12 there stated that since the P109 writes (in 3,8 X7P7), 1277 — his J727p, this teaches us that a stolen 1277 is
invalid, for it is not his. »a& derived from this that ¥ &> alone is not 1p, for if wIR* alone is 7P, so why is it not
considered 1127p, he acquired it through w&°. It now belongs to him, and even though he still is required to pay the
owner, but the animal is his; the owner cannot demand it back (if v &> alone is 71p). see following footnote # 8.
8 See previous footnote # 7. The question can be asked if W’ is not 1P (as »axR proved), why indeed do we require
1127p to exclude 23, it is obviously excluded for everyone understands that one cannot be w>7p» something which is
not his. Therefore, we must conclude that since here there was wX* and nw "W (the act of being w>7pn), therefore
the wpn is 71, and nevertheless the 70 excludes this w1pn from being offered (because it is a 77°2v2 AR37 M%), In
any event there was mwn "W WX through w7pi, and the owner cannot demand his animal back.
9 It does not appear explicitly there, but we must assume that as explained in footnote # 8.
10 If wpn is considered awn " and that is why it is effective together with 2>, then N90N cannot prove that wTpn
is considered a nWwA "MW, since the reason the wph is valid is because aw: "W,
! See footnote # 6.
12 See y2awaK 121X 27777 1297 1IN
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